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o 3 @ Bt w@r 3 5,000
T A T T R o e ) ¢
(A) FHAHETE (B /g

. (D) ¥=
Which. of the following  State

Government launched 7 5,000 ‘Kashi
Yatra’ subsidy scheme ?

(A) None of these (B) Tamil Nadu
(C) Karnataka (D) Kerala

- S 2022 ®, Wra Y Preffeg 3§ @ fag
W % WY FTIey Reiife Tehetl

S’ <6 v < ¢

(A) wiE (B) aniefera

(C) .. (D) 3=t

In June, 2022, India announced the

‘Commonwealth Diplomatic Academy

- Programme’ with which among the
following countries ? ‘

gzé; %r}a{ncfe 2%% ﬁ\;;tralia

‘ FUHt T IAF & tefieied &
foTe ADS it amgfd ¥ w I S
I IEH TEEE T F G
THST 9 QEEER fpu |

(A) Tégwam watHiieTd fafie o

- (B) st s ferfiee

(C) Yd STy

(D) ¥Rd sy feifies

Company signed an MOU

with ‘a Belarusian Company and its :
subsidiary for the supply of ADS for

helicopters of the IAF., .

(A) Hindustan Aeronautics Limited

(B) Engineers India Limited

(C) Bharat Dynamics )

(D) Bharat Electronics Lim1ted

Frafafeaa & @ fog widig w=g 3 9

aﬁm’mﬁ@#mgsa%% ?

(A) 3Jfem (B) W -

fermE s (D) TwowRE _

ich among the following Indian

state has launched a new scheme

named ‘Naari Ko Naman’ ? =

A) Odisha

Punjab
g Hlilzrgachal Pradesh

(A) Karnataka
(C) Haryana :

e g 7 3 et 3 4 e

R 3 o, wqig e i A

FRiH § 1,800 Hle T hl AT

&1 IgETeA 37K Rrer=arE foram ?
(A) SR (B) W@
(C) HFFRIR (D) &S

PM Narendra Modi inaugurated .and
laid the foundation stone of initiatives
worth ¥ 1,800 crores at an event at Dr.
Sampurnanand Sports Stadium in
which among the following districts ?

(A) Varanasi (B) Meerut

(C) Kanpur Nagar (D) Lucknow
fere eerm % 3Rt st i U wewid
T 3o & ueh fale s & 2

(A) fommd=s

(B) ferigia o wmaA - %%%

(C) SN
(D)  Hifa smEm

Which institution released a report
titled ‘India’s Booming Gig and’
Platform Economy’ ?

(A) World Bank

. (B)International Labour Organisation

(C) International Monetary Fund .

(D) NITI Aayog

Fefofea & 4 #5 © w~ gen R
o, Tediue e’ < TR T O T

TR T R A T 7
(A) HleH (B) TAm
(C) wfwmm (D) I ww

Which- of the following  state
government is planning to build an

_education township on the idea of

‘Single Entry, Multiple Exit’
(B) Rajasthan
(D) Uttar Pradesh

D) Uttar fradesh ,,
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Ty

W@aﬁ@ﬁmwwmﬁ?ﬁa

R RN R 7

(A) T IR

B)/ wera

© ?ﬁ]@ _

(D) - 3¥fsaH afnﬁﬁwaﬂwr@ .
Which among the following is the
smallest Union Territory of India ?

(A) Daman and Diu

(B) Lakshadweep

(C). Ladakh

'Andaman and Nicobar Islands

B TR % e w T fefes
e m g ?

(A)  3TE. .31 H).amE, a9

(B) UA.T.UH.4I. &F

(C) YR Rz dh

(D) USITE AYFS S

A new digital platform ‘Campus
Power’ for student ecosystem has been
launched by which bank ?

(A) ICICI Bank '

(B) HDFC Bank _

(C) State Bank of India

S (D) Punjab National Bank '
m%ﬁmﬁmaﬁaﬁ.‘a%mzﬁm

A8 7
How many states of Indla share border
with Bangladesh ?

(A) TH A SIS T&Pf/ None of these

By 6
© 5

D 7

ﬁmﬁlﬁaﬁﬁﬁﬁgﬁr@u@m% ?

@) FEARET @) S

e

[
" (©) Yen

©) D)

What among the following is .the.
national currency of Poland ?

(A) None of these (B) Dollar

(D) Zloty

=l
r~

12.

13.

14.

15.

_(©)

‘Gama is situated in which

I W w1 TH AR
WA TE R | .

(A) _(B) wifefiared
(©) /Fuw (D) Al

is a popular classwal dance
of Uttar Pradesh.
(A) Kuchipudi (B) Mohiniattam
(C) Kathak (D) Kathakali

frefaftga # @ foras o @s a1 W -
H w@fimsH FI e ?

(A) TSI a9 I

(B) e AT LA

(Q/ va gl

(D) wgHEA

Who among the following has the power
to prorogue the Lok Sabha sessions ?

(A) Speaker of the Rajya Sabha

(B) Speaker of the Lok Sabha

(C) President of India
(D) Prime Minister

“Fauig e few” ﬁwﬁﬁaﬁﬁé

feRE fe wTn ST R 2

(A) 23w B)/2 s

(©) 10fEst (D) 30=t
“International day of Non-Violence” is
observed 'on - which ‘among the .
following day ?
(A) 23 March (B) © 2 October
10 December (D) 30 January

T I~ TS ~TTHT T HehalT (S ) WRE
¥ Pt 3 3 fre e w R ¢
() e (afdem st

(B) e (qfterTg)

- (C) TS (TeRA)

(D), Hifa (F)
Tomb. (the burial Pplace) of Vasco- da— :

am
following place of India ? ong the

(A) Durgapur (West Bengal)
(B) Coimbatore (Tamil Nadu)

(C) Chittorgarh (Raj asthan)

(D) - Kochi (Kerala)
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16. ) ammE H1" Fefifea § @ frg B9 @
C/wm%?
(A) SrEReEl  (B) famne
©€) ézﬁa; (D) Fm
. “Thomas Cup” is related to which
among the following games ?
(A) BasketBall (B) Cricket
(C) Badminton (D) Tennis
STTHFYT & ?
(A) wfr Tg
(B) ) STl &&
(C}jsi T, 91, W, 37egel e
(D)  wgTeHT et ,
The famous book —Wings of Fire’ is
an autobiography of
(A) Sarojini Naidu
(B) Jawaharlal Nehru

(C) Dr. A.P.J. Abdul Kalam
(D) Mahatma Gandhi

Telee I 51 3fr ahorm 2
(A)/ 3wt |

(B) wHW Yo # yfgds

©) wEFwdgig

(D) @& @ yliads

Expected result of Global warming is ;
(A) All ofthese

(B) Change in crop pattern

(C) Increase in sea level
(D) Change in coastal line

Pt sigede #t vea 1 1 vl (v, 19
¥23) FIMART | | '

17

18.

TEph S e o o i SRy

T B | T8 R1e HE wrar-Riar 7 o g
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ga- A Rl TR R ai W S ey
3 504 O Tord ot T 2 | W 3
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3T @ | Wi-91q 3 37 TTEl U SRon 6w
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0

o a g am e

ST e - e T Far & T
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TS U @Y § R SG TE TIEa | =

61 freprara 2 fp wi-amg 376! Uit 3R w=) &

| Y vsee TE W 3R AU gUA S

<A<l <l F-T AU9T =TEd @ | 39 TR & STIER
4 FAR Ty K @ I ? IO R 9
AR 1 31 gRean 1 ==t 3 w—amy e
8 TR | 39 g fore e Fofa ge s gt
Y T A A gl F w3k
STl 1 bl € Sem =Ry &
FTHE! LIS % HIY Th=TF HE A 37

19. oTSiha Ye-ford Fagmes fow w4
§ P wai e A g o
(A) g™ 3 Al ) 31 iy e

7- Wﬁmﬁ%ﬁwﬁmﬁél

E]-[E!
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20, ‘T9 YRR & TAER Y A TIR TTY hd @
a2 g W B q FaER AN

o TR 7 |
S el SR GHAGR FA G |
(B) | % afEr ¥ gea (Tt 3R
ﬁﬁ)%@—m, @H'W’

e A STl -er ot Y A

FOFHFAEN |
(C) == & ¥ F A %@ 2 |

(D) =l & WH-IH W Ut L B |

21, Ry # TS == % agR dREd 5

fore =1 <l @ 7 g w1 & A T
T T Jeiel oeh hl YT |

&) IR R

(B) =i & #F | S99 | Ai-99 gl
‘ T T U |

€ TrudsTsds=

(D) =i % HI-=T

22. TRy i o1 =@ S= % AT-99 39 A -
o 9 A e 3R g ! ==l

feeh 4 ;i T a2

(A) Adeft 3Tt STTE o S |

(B) i 3 et ideEar 1 @
g | . '
%ﬁ c] smEgE TS fem |

(D) =l o Sifcr STt ATl & hIT |
23, W= Rrema @ 7% Af-am el 3k

T % Y T e H I AT

QO ST <6 <fisit bl gt e =ed € |

wFRmsaEddadiz e

(A) wrI-ar 1 fadr @@ %1 &S 3

(®) < dffesel s et |-

(C) AT g T 7w H e e o |
(DY E Shem et ok s %
g T fRy & T % Y T H

Fog A9 |-

0

»vﬁﬁaﬁaﬁ%aj@aﬂqﬁwm% 7

frffed oeSE H TR P T T
(v.24%28) SIRT | "
3 aarl 1 fames g S W@ R |
e Eiftm 3t SR g1 1w § | Te-ford
it T G w= A B § | Ai-a I
STy GETe & 9 eiTg- T & Sl 1 T
Rrg feremd & off gATR WA TS FWE |
[ qH NP EE Fifr, w AWt
TS ST AT 376 SEE I § | T S
et & wenE o H R F oa=
s B R § | I e e d
% Wt %8 3, T a9 A FE AR FT
TrevrsfieTdT @A Bl ST W R 3R S 9 =,
TR g Yg-foraeRt HieRdl U1 ST § 91 I
i et o | - dR-ofR e €
SRS | 39 g SO % @R Y o I T
@ o 3R sfeeE I % T =l gl

e fow 9w | o wi-am e ofk wiwE §

3R s WA | IS % §¢ Hi-w e
it % g wi-s Al gor § ot S |

TR 1 3 % g wifea-uifya I 3

AT GRER T Fe B & EeRa R E |
T8 ST @ o e @ A1 oY Ji-=19 TR W

! §3ﬂtmaﬁﬁmﬁ_ﬁ?—zﬁqﬁ@maﬁﬁm
g arRa & | Nl % Jfayet § Sied et 3§

ot 2 e B T B 1 e e 8 AR
@ W19 o =i o 3 U 3 forwa
$O GATE A 8, Q1 ITehl T8 HI THM &

B | 7 wva: i & afae w1 aRemm R )

319 Y e T & 3R STIEU UelTg hl 39

7S it <l MTETIHAT T8l & | e h Wl B
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(D) 1 3 g H w H R
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@) T 9 D A R A
G 1Y |
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W 3R el it & we=l W T
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(C©) I 0 S W Em @ |
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(B)) < iR ery v 5 aer a7
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ST e 2 s e
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(A) FTH G IS Tel
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ST WA N & |
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| W.H.29933: |
o 2011 F 2015 % A e foredl & wReivh
qlien # IR, JhOl IR TG Ificart
TEH1 < 3iehs diereh! H fewiflaa g | fm arferht
1 TEEA Th 3T IH T THIRG SRAT 6 F <, |
Q.Nos.29t033:
Data ‘for Number of candidates appeared,
qualified and selected in, “competitive
examination from five districts over the years
2011 to 2015 is mentioned in table. Study the
following table and answer the questions
based on it. '

| 1A / District A| T B / District B | £ C / District C

¥/ || et | safia| seitm| el | o | sefem| Sl | s3fE
Year| /App| /Qual| /Sel | /App| /Qual| /Sel | /App| /Qual| //Sel

2011] 8000 | 850 | 94 | 7800| 810 | 82 | 7500| 720 78

2012| 4800| 500 | 48 | 7500| 800 | 65 | 5600| 620 | 85

2013| 7500| 640 | 82 | 7400| 560 | 70 | 4800| 400 | 48

12014] 9500| 850 | 90 | 8800| 920 [ 86 | 7000 650 | 70

2015| 9000| 800 | 70 | 7200| 850 | 75 | 8500{ 950 | 80

fe1 D / Digtrict D| f1 E /District E

| =4/ | wafee] weich | swafva| sufmm| ol | wafa
Year| /App | /Qual| /Sel | /App|/Quall /Sel

2011| 8200 680 | /85 | 6400| 700 | 75
2012| 6800| 600 [-70 [ 7100| 650 | 75

2013] 6500 525 | 65 | 5200 350 | 557
2014 7800| 720 | 84 | 6400 [ 5404 60

o

‘- -

2015| 5700 485 | 60 | 4500| 600 | 75

2. fow R F f few @ d wabE

(A) RmE B) ®=nD
©) fmema (D) Rmmc

For which district, the averdge number
of candidates scléCfcd-oVer the years is

the minimum ? :
(A) District E
(C) District A

(B) District D
(D) District C

framufosag 7 -

" of the numper of selected candidates

(A) T & ®IE T /None of these

D) T231%7

fren C ¥ =afE Iuficari w1 wfow |
By C & il Iefigart i gon | fea
o & ged AAfrE R ?

The percentage of candidates selected -
from District C over those qualified -
from District C is highest in the year :

(A) T8 Qi3 7Tal/None of these

(B) 2013 Q
(), 2011 - - ,

Eg)) 2012 . /I/

foren D & i et 1 v P
D @ gafRr g Tl  ge  frgad
Faed HAE ?

" The percentage of candidates qualified

from District D over those appeared
from District D is lowest in which year ? !

(A) 278 § =1 T8l /None of these

(B) 2014 CRA
(C) 2012 -

(D) 2013 |
: aﬁfzollﬁ,mﬁéﬁw@mmﬁ

i qern § TafE Ificard w1 i

g8 37feres o ? '

(A) FHARETE (B) WemE

(©) T A @) fenc

Tn the year 2011, which district had the:

highest percentage | of candidates
selected over the candidates appeared ?~, -

(A) None of these (B) / District E g !
(C) District A (D) District C =

WWWM%%WEQW

" Sufieard <6 e 38 s % enE Rren

A T st 3uficar it T& 1 T

The number of candidates selected .

" from District E during the period under

review is approximately what percent

from District A during this period ?

(B) 88.54% . ’ :
(C) 68.79% IS

' v
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L . o o T A PR
. G, 34 § 38 : AT #1 atemd W= sin | s, a1 Q g TS g TR iy
iR et % 3 | j e I ] T i gaTEms (45
Q. Nos. 34 to 38 : Study the table and answer the St R g1 < Y (
following questions. o o9 1 ST fRaAT 8 7 : 1
§ il s e 5 s g A s e | What is the difference betweeﬂm‘h;fo% S8¢
Numberrofproducts sold bySc(.)mpanies during 5 months a © number of prodl.lCtS SOldhby ;:r?d t]ljle t)étal
WEHT/Month it / Company / S/Y’ in January and May to%?:it l:f; company R \
Ce) | R &) s f ~“number of products Soether 2 w““ﬁ !
ﬁﬁzzu””} & f 18105 }]85; a% ;5 ) in the same months tog3 | 9'8 (adb {
ruary i .
AR/March 180 [ 1301 [[ 115/ 100 [/T79 | VA) 02 D) 85 Iﬁﬁq o
3/ April 6O | 145][340][ 140 ’T65 } ) 76 \P ' (
T/May | 140 |[128/] T30l[ 100 .%) L 9@[43;@%7@@@?5@@3@3& ?Q
o g:&wﬁﬁ%%%mﬁ ;ﬁm ﬁqmﬁaﬁfmfﬁ%ﬁq
[80 TSI < et T & S R 2 2 U IS | (et e et A g e E 1)

© What is the ratio of the total number of
products sold by company P and R in
March to the total number of products
sold by the same company in April ?
! B) 16:19
© (D) 40:95
C( gs. T S GRT 31 1T Ie1e] B e 3 sy

s

degree.)
37T b STV FRhert ST <6y A B (1
— The number of products q%ld by & _{/
(o ‘company S approximately increased by —
’ what percent from January to April ? Q(’ J
(o EA} 76.7% B)  72.31% | o
— (C) 62.9% 64.71° (q;:& /]

o

® 6. F TqmA, s st A ae o f

~ A e i, 32% A W a T Y | |

9 W, 318 3R 7 W T g A e e |

— I 3R} h et T et oft

80" ut .of the ‘total number of products

—=50ld by company T in March, April and
May t({gether, 32% were made of mild

steel.. What was the total number of
mild steel Pproducts sold by store T in
March, April and May together ?

A
4

Q. Nos. 39 to 43 : The pie chglrt given here
shows the spending of university on various
sectors during a particular year. Study the
chart carefully and answer the questions
(All the values are given in

given below it.

, (A) _ﬁﬁﬁﬂﬁgqﬁf/None of these
OgE s ) TIOk @ o
10 oA DY/ 86%
3. wﬂﬁm_g,s_,aﬁqmaaqqmé\ 40. BHEE w
<l it dE et @ 7 () é\' R @ gy 3

What is the average number of products

29

A Approximate] i
g LS EF S | e b e o
%8 February ? (Approximat i b 12780 i
bE (A) 120 18y Y 12T8% B) 11.8%
C) 112 ) 116 A3z ©) 9:8% D) 119,
2 , YK T o8 (8008 -
RUAY —— 7 9 4 [,_.MIIH‘/

?/'0
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» 41. Wﬁa&%amﬁmﬁ%ﬁqi@érﬁ i 4s. qﬁzoosﬁaa%qﬁzﬁ“qﬁm.waﬁ,

0 %ﬂﬁ?l,so,oo,oooa,?ﬁmmg { - @ 2005 F At A % = 1 HE B H
BEEE | @ T 37T AT AT ?

>~ @ 1 7 TR Y et 31&@%‘?-' ;w§ ?f?he incomes of two companies were

If the total amount spent on various

: - 1 in 2005, then what was the ratio
y sectors during the year be T 1,80,00,000, 4@ g(flue?(p]et:lditqre of company A to that of
b gt artit e o nfwsmia: 55 compay BT U
G B neme 08 5T B T S
gx) i v ,50,000 e ‘
Z6?42 W, ﬁmﬁgamﬁﬁmﬁmmu 4 zrhzoozﬁmﬁlswm?zqovﬂ%
| ST 2 7 &0 1 o, d2002 Femawe 7 T
0 . ’ ; :
6 How much percent less -
?QL{ Sports than 0111) Education ? i (5) 283 0 0 2460 e ( g
1~A) 48% (B) 42% (C) 32% (DY35% 32168 (D) T 250 S
-~ \ 4q0) .
T % kil TG B e the expenditure of company B in
% 1.8 g o141 1a ai K GEDIE] 74 2002 was ¥ 200 crores, what was the
MERECEETR R e income in 2002 ? ’
} i5 . If the total amount spent on Sports M (A) T 283 crores (B) <260 crores ’
g f“ duringtthe ycatr was ?Ell's crores, thg (C) T 2l6¢crores (D) T 250 crore @,'7 A lO\’Jﬂ
ount spent on ucation an & 2 ;o
Ta% ,@gsearch together was : 47, 3fe 2001 d Wﬁﬁ A aﬁT B &1 o — %
| \ A) ¥72,50,000 %B) %7,25,000 / . o 3R 2001 ¥ Gt Sl A For I Dot
{ ) et et e 8 T 2 a2 s o, 1 2001 5 2 PR C 9,0
“ ’ TSN T i N e o 7 (T = AT -
’ 20061 sy % A A 2 3 7 (e = am

A 3R B gr1 aiffa wfowr ot sigm
& | UTh hl 31k & U ST Tl b Je S |
Q. Nos. 44 to 48 : The following line graph |
gives the percentage profit earned by two
companies A and B during the period 2001 to
2006. Read the graph properly and answer
the questions:

28

P iasR T (B) T 10290 [(N;'?

€ %174 (D) T 120 ,,ZQW
If the expenditures of company A and B f ) 2

in 2001 {)vere equal and the total income( e
of the two companies.in 2001 was ¥ 342
crores, what was the total profit of the

A two companies together in 2001 ? ?V 607
g g 2 & ) sufeit A wren B gm aifota v e roﬁt = Income - Expenditure)
. Pm”"'"gef,"':",;:::’:;‘i’v‘;{,{::s'"p N7 21—-</(A) Noneofthese (B) 102 crores | X! us”
Bl — O (©) X174 crores (D) 120 crores S
g u = - - i 48. ¥ 2003 # HIH A H =/ T 200 s Y
| T H T 1 5 2003 & FA A R 7 2005 QY
Eo | /P7_2-30% @ & M ot | 2006 F HUL A 607
2001 2002 15“i'z]riny.:ars 2004 _C_Z_::g(:;)_ A-“% 5/ 3T R oft 7 / ‘ °
05 % 2 T A T B o ST (®) 7 B WS
3: 4% orguma | off 12005 WAk =g |, 2%??464% D) ?3763?%2?/
. 3T AT . e expenditure of company A i .
e IO AL o iy %ear 2003 was T 200 crofes and b /v
income of two companies A an . i ‘
@ i 2005 weré in the ratio of 3 : 4 Income of company A in 2003 was the
B e th . : same as its expenditure in 2006. The .
‘ pectively. What was the respective : ¢ ! _ P
ratio of their expenditures 18n 21010 ? ?X)O“’; g4;0mpany 183 l)n 2;)0268 'Sras ; /R
A) 26:34 i : - crores crores . .~
» gc; 17: 2.27§; 45 : 68 - (©) R464crores (D) %376 crores / So
90.0:) SDM.Am ? /] = CTovvoe: 02 .2
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49.

.52,

Y gperas

“Sifsr” R & TN, STt TS W 6
7 ferfa | R
(A), FHASETE B) T

; D) we
“Write the name of Mughal ruler who
reimposed “Jaziya”.

- -gA) -None of these (B) Humayun

- 81

C) Aurangzeb (D) Jahangir

S0, e 8 e ol g e BT

mwmﬁ@r@yﬁrm%}
@A) faff - (B) S st

(YEGES (D) R SR EH

Which of the following is considpreq as
one of the most important contribution
that was introduced by British ?
A) Shipping
B) Banking and insurance

. (C) Railways o
D) Plantations and mines -

“Herc” Sl Tl Foraes gy fove 7T off 7
(A) godigm (B)/ ferso ymi
(C) areHifer (D) de=aH

- The tales of “The Panchatantra” was

& -\

written by : .

A) Tulsidas . (B) VishnuSharma
gC) Valmiki gD) Ved Vyasa
IGH §g ¥ AR H 37T IR Sue |

7 fegr o | | |

(A) . e g5
(B) , &= gl
( mfw—mgﬁ
(D) SR | .
In Gautam  Buddha

delivered his first sermon at Sarnath,

A) Bhumisparsha Mudra =~ - i
Bg Dhyana Mudra A
C) Dhamma-chakra-pravartana Mudra
D) Abhaya Mudra - . '

g P 3 v e 3 g

gAY 7
(A) (FHABR T (B) Fmw |
(C)J agaTH D)

Which of the following ruler’s court
poet ' was Harishena 7

gA) ~None of these (B) Kumaragupta
C) Samudragupta(D) Skandagupta

54.

" The reason of la

- B)-
©)

- (D)

unching the “Civil

Disobedience Movement” by Mahatma

Gandhi in 1930 was : ,

(A) None of these

(B) Asking the peop
Swaraj Pledge..

©)

le to take Poorna

Asking the Viceroy through a
letter containing Eleven Points
Programme to remove the evils of
the British rule.

Dandi. March to break the Salt

Laws.

D)

S 55, Pofofed § 3 €9 @ 1857 S s

e T 7 |

(&) ¥ e sheeh < et 1 el
I3 T ST o fea |

(B) 3N 3w fran s @ ¥ vty
fehT <hT ST ST S |

(C) IS T IR W wT
uiitis 3t wmiies gemai =

. wfem | .
Which among_the following was the
consequence of the 1857 revolt 2

(A) Transferred the powers of - the

East India Com i
Crain: pany to the Br;{hs_h

British . decided , thai - qhe
. ; at . the
pl:oportlon of Indian soldiers in
the army would be increaged.
The British decideg to crush the
mary religious ang ial
_practices of the people in Indsi(e)l‘.:la |

Policies to
abolished. protect landlords were

n=a

~
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56, Pt § @ B g w1 T

57.

58.

mmwﬁwm%?
(A) FTHARETH (B) et gher
© TR (D) B @

Which of the following is the Earth’s
largest inland body of water ?

(A) None of these (B) Lake Baikal
(C) Lake Superior (D) Caspian Sea
frafefaa # @ oW @da wa =
TR T R-ST o 7

(A) TH e TFRHR GH

(B) HER e TE Yo

(C) T 3TTE J

(D) H. TSI

Which of the following was free India’s
first Indian Governor-General ?

(A) Khan Abdul Gaffar Khan

(B) Sardar Vallabhbhai Patel

(C) Maulana Azad

(D) C. Rajagopalachari

fr=fefaa 1 & forg arffm g smt =
WA A 37e foram T o ?

(A)/ ¥ TR STfafd, 1935

%@% (B) WitH-<TH®IE GUR, 1919
EBRY (C) T <R 3gEn

(D) fidi-wici gur

Burma was separated from India by
which of the following Act ?

(A) Government of India Act, 1935
(B) Montague-Chelmsford Reforms, 191
(C) Queen’s Proclamation :
(D) Minto-Morley Reforms

Wi @t frfew frior @ g & & o,
wrda T A (INA) 1 e e
fear 7

(a) T e @)
€ wafde  (Oa/A& e
Who raised the Indian National Army
(INA), to free India from British control ?
(A) Ras Bihari Bose
(B) Subhas Chandra Bose
(C) Bhagat Singh
(D) Mohan Singh

0

14

60.

61.

62.

63.

g % Se R frefafea 3 8
fraT AT E 7 .

(A) fomeETen (B) ¥RES

() Aeg WeH (D) TS .
Teak forests are found in which of the
following states of India ?
(A) Himachal Pradesh
(B) Jharkhand

(C) Madhya Pradesh

(D) Punjab _

AT 99§ S iy 8 S 8 3
¢ ffl o eman S w1
TR dEEEe |

(A) (B), Tligmm

(c) fasm TEhIE (%)
The normal rainfall increases suddenly
and continues constantly for several

days is known as the of the

Monsoon. -

(A) End (B) Test
(C) Rest (D) Burst
A (GMT) T FTRIR ?
(A) MefeameEn

(B) e Hi <rgH

(C)/ Thfer ¥ ergm

(D) afea firs 2z

What is the full form of GMT ?
(A) Greenwich Mega Time
(B) Gold Mean Time

(C) Greenwich Mean Time
(D) ._Greenwich Mid Time
Wi 1,000 T R S =it b i
&A1 ) fohd 10 & 1 S 8 7
wfA) T I T
BY &S (3mifta) 57
A TN |/
(D) T T XN
By what name is the annual number of
live births per 1,000 people called ?
(A) None of these
(B) Crude birth rate

(C) General fertility rate
(D) Total fertility rate
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64.

63.

66.

1969 # fraht wqm foht S &
TRt fema mam e 7

How many leading private banks were
nationa]iged in 1969 ?

(A) 3T ¥ I3 &l /None of these

(B) 1

C) 12
D) 6

1991 % o gui Hag_ J@m
Torly &9 & griwe &3 3 R amE & |

(A) FHAFETE (B) TR
(Q)/ T 3t I (D) Hgh uftere
Industries were reserved:
exclusively for the public sector after -
the economic reforms of 1991.
(A) None of these
B) Communication .
C) Atomic energy generation
D) Metro transport
TS T o ifed Ireey 9 |
(AY s ices Rig smeemnfer
B) it foa pigeht
(C) it 3., fomar
(D) it e Oy
was the last deputy chairman
of the Planning Commission.
(A) Shri Montek Singh Ahluwalia
(B) Shri Vinay Kohli
~ (C) Shri R.P. Sinha
(D) Shri Shyamal Ghosh

67. ﬁw%f@aﬁéﬁqméa%mm
Te1 T 8 7 : B
(A)/ rerfires 8 Mﬁ?ﬂwm
(C) =g & (D) it o

68. fmfifeg 4 3

Which of the following scctor is the
largest employer of Indig ?

(A)  Primary sector (B) Secondary sector
(C)  Quatemnary sector (D) Tertiary sector

g ,mgfﬁaﬂaaﬁﬁ
T H STRY T o 9 8 g iy
@ o =

(B) dftemrg
(€) fagm Y ey
Which among the following states was
chosen as the Initiation site jp India for
Green Revolution ? '
(A) Punjab

(B) TamilN
() Bihae e

(D)  Andhra Pradesh

)]

69.

70.

71

:ne Articles is for
the fo}lomr]l\%lmoritiesn r)
Article 29
Article 27

Which among .
“Protection of Interests O
(A) Article 30 (B)
(C) Article 26 (D) . il
423 Geied ¥ mreEw A AU a;
J1 DPSP (w f % Fewes g

yfesfera & | i
O R o e

TSR |

@ mﬂmaﬂtﬁ:wﬁmm |

(D) Tl % <9 swgE Wi 3R
& ! TGl AT |

Through the 42™ amendment, which of

the new DPSP (Directive Principles }?f
the

State Policy) was added to

Constitution ?

(A) Prohibit the consumption of
intoxicating drinks and drugs.

(B) State need to minimise’
inequalities in income, status;’

facilities and opportunities.
(C) . Equal justice land free legal aid.
(D) Promote international peace and
security between nations,

. \Ejﬁﬁaﬁafméﬂmmﬁw% ? ,g%%
Ay | 0]

(B) mﬁwmaﬂtm
! T8 T |
(C) wEwf gufy |

(D) i
ST |

Which among  the

Fundamental Dyties ?
A) Allof these

(B) Protect the sovereignty, integrity
.. and unity of India,

(C) Safeguard public property.

(D) Develop scientific temper and

humanjsm, -

& T |
IR greER

following are

12

p—
@]
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72.

73.

74.

2e
G53

75.

76.

" (C) Teflon

As per Article 245 is the function

, (B) Stellar distances

KOWXI .8

%8

BT v O

(A) Tl (B) wWow

%?/1 t (D) wrElA ‘
e element common to all acids is ¢

(A) Noneofthese (B) § ‘A

(C) Hydrogen ED% cglr%l:: @,«

FAReH THT UM F e A

AR EdE |

(é))/sqﬁ}’raﬁéqﬁf (B) ®HR

e (D) i

Non-stick cooking utensils are coated with

(A) None of these (B) Black paint

(D) PVC

TG 245 % AR G H

FET |

(A) TR I AT HET

(B) T KTl

(€) ITEA HEAT

CEICI

of Parliament. S
(A) Criticising Government
(B) Collecting taxes

(C) Governing

(D) Law - making

mﬁmmﬁmﬁf@aﬁﬁmﬁ
el g ? - a

(C) /g 3 T e

(D) R H Jg &l Taad!

The Sarkaria Commission is related to
which of the following ? )

(A) Election Reforms

(B) Banking & Financial Sector

(C) Centre & State Relations

(D) Freedom of Press in India

e FGHANR |
&) FHARETE  @B)aREd
(C) TS HIT (D) ShmH

Light year is a measurement of
(A) None of these

(C) Speed of aero planes
(D) Speed of light '

“up
2

(. y
\

9.

80.

81.

‘(B)

- feu M i

(217 + (5.8)} ;]/}

(iy-z.l x 5.8 +(5.8)2
@y 7.9 (B) 69 To
(C) 4.9 D) 59

e et #, 70% el sfeehl § I 40
70 31 80% Fvrelf aehon # Fefivi g |
afe g7 S fawd # 55% e e
g0, it gl fot i fera wfawa arred
e €U 7

In an exam, 70% candidates passed in
physics and 80% candidates passed In
reasoning. If 55% candidates passed in
both these subjects, what percent of
candidates failed in both subjects ?

',
¢y
U857

3)

35% (B) 25%
(C) 5% (D) 15%
Srmffa 1 4 S g9 gigaR wAu @ ?
(A) TE (B) weft 0
(€) = (DY Sifew -

Which of the following is the most
intelligent mammal ?

4
(A) Rat (B) Elephants )Z
(C) Whales (D) Dolphins r Yy
<heff o ferepral P soere B 2 7 e
(A ST Y ToTerT, T S STty
)| SreRTT i TUTET SR el ]7)/30(
C) <hae JehT =hl
K - WY A
(A) q
hgh]t.. d durati f ligh ' :
t t t ,
quality and duration of lig .y 77)’_—7 \
33U D 33w = ;
HAEE ? |
43
9 7°

3

(©)
(D)

>

(D) SRV I 3R 7T
Plant development is influgnced by '/]ﬁ
quality, quantity and duration of

quality of light only
quality and quantity of light
TR .

nn

) ) 1
Out of given fractions 32 17°

r—

which one is largest ?
13 /11

.
= Egns.
LA MR SRR U

A) 17 B} 13 ¥
4 5 K
© 3 D) 7 ~

n~ -
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02 -'ll-.*..

Graty
®) 5+3
D) +2-5

@ Jo-4+5 =
‘ (A) J§+5
(©) \E—_z

83. 308, 125, 45, 120 37K 102 1 3itad @
Jod

) &

The averaggof 308, 125, 45, 120 and
102 is
\(;()2 140 130
}20 @ (© 110 120
o’U

(B)
(D)

/62]3 ‘wmaﬂfé?-ﬁnm%

10 &y 5 SR
| -)//J (C) "=w o) swa 4
(¥

85.

Toeelt 1 vael @ R TR =R @5
aref 2-

(A) 97 a2, A A |
(B) U E 371 € T & T =R |
of W T YA & 4 R el =R |
(D) fora =afes & amera o @, sdt
BI 9g |

‘e’ 1 HY =S = g 2

(A) q +3Hey @./g + 37e9.
€) W+3™ (D) T +T

0=

86. A

4)
(- ) i -
88, e s ) T - 5 7

T4

L5 e cA A &
. W ks (B) FEEW
©) & (D) &

T S

nd answer the °
Read the passage carcfulljzél 89 and 90)

i uestions : :
corrcsvpﬂ(}(r:lrtllﬁl:g sq Day, February 14, lSLh Qéhﬁl&gg
that celebrates love and friendship 11

States. Most people think of it as a gorlgﬁng;edﬁy .
to show the one you love hov\{/ rriggtinye’s Day lys
purchasing cards and gifts. | ah lider P
also an extremely commercial ho g &olat% g
spend money on flowers, balloon:i, fre Osi
stuffed animals and jewellery. Peop % isg evu
for expensive dinners. Valentine' s Lay K anin
celebrated by school children, who give dark
ou cards to their teachers. Some high stiols
Kave Valentine’s Day dances. Classmates give |
each other little cards. These cards can be
purchased at any store with. famous cartoon
characters. It is considered much more thoughtful
to have kids make handmade cards to give to
friends and teachers. )

Valentine’s Day is also a great day to
announce your love to someone like a secret
crush. Some people even get married on
Valentine’s Day. However, you don’t have to
be in love to share in the festivities. You can
say “Happy Valentine’s Day” to friends and ..

‘co-workers. Valentine’s Day is not an_official. "

holiday though in the U.S., meaning’
government offices and schools are open as
usual. The date used to be the celebration of a
Saint named Valentine who allegedly saved a
young girl’s life. It wasn’t until the Middle
Ages that romance somehow got mixed in
with“the date and lovers would send each
other handwritten love notes. Back then you
couldn’t just go to the store and buy a card
the way you can now.

89. According to the assage, what d
school ch'%ldren gift tEeir tegachers % :
gA) Jewellery - -(B) , Balloons

- (€) Chocolates \D)/ Thank-you cards

90. According  to  the passage, is
Valentine’s Day officially a holiday ?
-%«); Probably (B) ,Not specified

Yes (D) No

91.  Choose the correct synon: 4 ”

: Animated ' ygB) y?rgf;' ‘E:l,me/_

) ‘Docile D) Spirited '

92. C )ose the correct antonym of : “rapid”

3 I'ree  (B) -
3 0 T dy ED% ﬁcégnturous
. Gi ' . ”
foll\lrgwinouge: word substitute for the
“one who
pain”

is indifferent 1o pleasuré-of‘,% '_

‘ @Stoic

14

Orphan %%ﬁo timist U
K D) viercenary
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95.

A L
WE'ﬁBgﬁ*"ﬁ“?‘““WgAﬁm 96. el TRa s ¢ T S[7 2022 H THREY
ﬁ?’mﬁﬁﬁm%ﬁmsﬁ afbe 3 feedl % w9 # e ot *
gheildl! Sl € | A, HICHTS 1 s1fn & o & 9 femment @ R T o |
”a_a”:” g | ) ficre (B) WM
B T (%) C) (D) W
©) (D) W Bharat Gaurav tourist train was flagged
Pointing to a photograph A said to his off between India and , as part
friend B, “She is the only daughter of of Ramayana Circuit in June 2022.
the father of my mother.” How is A - (A) SriLanka  (B) Bhutan
related to the person of photograph ? - (C) Nepal (D) Bangladesh
% I%‘.’“ 8:3)) I{fatemal Uncle | 97, wrm 3 QA1 <ol & s “molga 3R
iece ,
o ) Nephew e a3 i 35 e 7 @
gl FUA W UG Mm@ W R it 3 red PR § @ R 3 A
ﬁgﬁf@jﬁéaﬁquﬁmﬁ 75 TeTE 37N 17 THe 96 SRR A 7 é H@“
e | - © Aew @/
Y @ _ A India gifted 75 ambulances and 17
[ oue fmio wafEt 3 g & H school buses to which among the @
Seiat &6 il following countries as part of its
=l ﬁqﬁg:ﬁ 2 ongoing efforts to build on the “robust
I TR A A & AU W Yk and longstanding” partnership between - 4 614G
TEER | s the two countries ? U Qy 0250
o ‘ e T (A) Bangladesh (B) kraine '
(A) I.Gﬁ( I gl * (C) SriLanka (D) Nepal '
wEEl 08, fifei s i fy M R Y
(B) e I3 11 31 A HRUIE | STET & < BT | 1t et
© I SR 8 3w 11 589H1 In the following question, select th ‘
2 odd one out from the given alternatives. %
(A) (701 B) 401 .
(Q)fmﬂIIWT"T??'ﬁTWF‘13‘m (cg 101 ED)) 301 ¢ o2 e
. dm%}: | | | STty 2006 i R o |1 Sad, -
ead both the statements and decide m’ 2 .
which of the following answer choice 2[%0‘3% Wﬁ??ﬂﬁq?ﬂ/ ATV IR
correctly  depicts the  relationship (A) "gH9R SAFIL, | g1t
between these two statements. (C) Tear V4 |
Statements: It was Sunday on Jan. 1;-2006] What
I.  The Laptop manufacturing - was the day of the week on Jan. 1, 2010 ’Ly@
companies have recently (A) Wednesday (B) Friday
increased the prices of Laptops. (C) Sunday (D)  Saturday -
II. The thcl)lvernment recently 100. afe fret TifTaa s ® ACTIVE Hl
increased the duty on Laptops. P e e 5
(A) Both the statements I and II are gg%%y% 351_};75[ i mm-%’ R
- effects of independent causes. El ECT @ B4 Hifed ﬁ'hTIT
(B) Both the statements I and II are Sy GV
independent causes. If in certain language ACTIVE is coded
(C) Statement 1 is the cause and as EDUJWA, how is EFFECT coded in
statement I is its effect. that code ? - 5
(D) Statement II is the cause and (A) EOFGTG (B) TCEFFE e
statement I is its effect. (C)TGGFDE." (D) EFFTEC 03,

e ——— -

nma
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